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2. Make suitable assumptions wherever necessary. 3. Each Question is of 1 Mark.

4. English version is considered to be Authentic.

1 | Which of the following is not a Natural resource?
A | Forest B | Plastic
C | Minerals D | Water
2 | Resources without life are called
A | Biotic B | Artificial
C | Homogenous D | Abiotic
3 | Fossil fuel is
A | Non renewable source B | Everlasting source
C | Renewable source D | Defective source
4 | Humus will make land
A | Fertile B | Dirty
C | Clean D | Polluted
5 | Deforestation is
A | Cutting of grass B | Removable pollution
C | Cutting of trees D | Protection of trees
6 | Photosynthesis is done by
A | Animals B | Plants
C | Insects D | Microbes
7 | Pollution is due to
A | Urbanisation B | Deforestation
C | Afforestation D | Sanctuaries
8 | Which is the pollutant?
A | Oxygen B | Nitrogen
C | Sulphur dioxide D | Argon
9 | Malariais
A | Air related disease B | Heat related disease
C | Noise related disease D | Water related disease
10 | Which is not the type of pollution?
A | Thermal pollution B | Eyes pollution
C | Radioactive pollution D | Land pollution
11 | Cutting of trees will
A | Increase oxygen B | Increase carbon dioxide
C | Increase ammonia D | Reduce carbon dioxide
12 | Indiais
A | Developing country B | Developed country
C | Underdeveloped country D | None of these
13 | Screening,flocculation,sedimentation are related to
A | Treatment of air B | Treatment of water
C | Treatment of land D | Treatment of noise
14 | Anaerobic digestion takes place in abscnce of




A | Light and oxygen B | Water
C | Heat D | Gas
15 | Which is the component of environment?
A | Water B | Land
C | Animal D | All of them
16 | Lithosphere consists of
A | Water B | Forest
C | Land D | None of these
17 | Greenhouse effect is due to
A | Oxygen B | Sulpher dioxide
C | Carbon dioxide D | Nitrogen
18 | What is the name of biotic component eats which grass and plants only
A | Herbivorous B | Carnivorous
C | Omnivorous D | Decomposer
19 | Which gas is responsible for acid rain?
A | Oxygen B | Carbon dioxide
C | Argon D | Helium
20 | Give the example of abiotic natural resources
A | Plants B | Wildlife
C | Rivers D | Forest
21 | Which gas is responsible for depletion of Ozone layer?
A | Carbon dioxide B | Chloroflurocarbon
C | Oxygen D | Nitrogen
22 | The sea level will increase due to
A | Earthquake B | Deforestation
C | Volcano D | Global warming
23 | Photosynthesis takes place in presence of
A | Light B | Water
C | Chlorophyl D | All of them
24 | Food chain consists of
A | Carnivorous B | Herbivorous
C | Producer D | All of them
25 | The unit of noise is
A | Pascal B | Decibel
C | Angstrom D | Newton
26 | The component of ecosystem are
A | Land B | Atmosphere
C | River D | All of them
27 | Sustainable development is possible with
A | Renewable energy sources B | Non-renewable energy sources
C | Conventional energy sources D | None of these
28 | The example of renewable source of energy is
A | Natural gas B | LPG
C |CNG D | Wind energy
29 | The remedy for energy crisis is
A | Energy utilisation B | Energy wastage
C | Energy conversation D | All the above
30 | The abiotic source of energy is
A | Mineral B | Insects
C | Plants D |BandC
31 | Waste heat recovery is possible in
A | Scooters B |Car
C | Boiler D |ABandC
32 | Energy auditing is done to




A | Increase energy use B | Reduce energy use

C | Waste energy D |[ABandC
33 | Types of forest in india are
A | Deciduous B | Alplne
C | Tropical D | All of them
34 | The biotic component of natural resources is
A | Animals B | Forest
C | Mountain D | A&Bhboth
35 | Sustainable development considers
A | Environmental needs B | Economic need
C | Social needs D |AB&C
36 | Which state have highest wind power installed capacity
A | Tamilnadu B | Gujarat
C | Maharashtra D | Karnataka
37 | Nacelle is provided into which type of turbine
A | Darrius wind turbine B | Savonious wind turbine
C | Water pumpng wind mill D | Horizontal axis wind turbine
38 | What is the function of wind vane?
A | To measure wind velocity B | To measure wind energy
C | To indicate wind direction D | To indicate wind temperture
39 | Wind farm converts
A | Wind energy into solar energy B | Wind energy into tidal energy
C | Wind energy into physical energy D | Wind energy into electricity
40 | Wind mill should be set up at place where minimum annual average wind velocity is
A | 25km/hr B | 35km/hr
C | 15km/hr D | 45km/hr
41 | What is the position of axis of savonious rotor
A | Horizontal B | Vertical
C | Inclined D | None of these
42 | Blades of horizontal axis wind turbine have
A | Aerospace design B | Aerodynamic design
C | Aerometer design D | All of them
43 | Vertical axis wind turbine is
A | American multi blade B | Propeller type
C | Savonious type D | None of these
44 | In HAWT generator is placed
A | In Nacella B | On tower
C | Onground D | In Gear box
45 | Solar radiation which does not change direction are called
A | Diffused radiation B | Beam radiation
C | Total radiation D | Microwave radiation
46 | The solar cell work on
A | Sound waves B | Shock waves
C | Solar waves D | Infrared waves
47 | The low energy content radiations are known as
A | Beam radiation B | Diffused radiations
C | Total radiation D | Microwave radiation
48 | The phenomenon of spreading of solar radiation in the atmosphere is known as
A | Absorption B | Reflection
C | Scattering D | Refraction
49 | The instrument giving information about duration of the sunlight is called as
A | Pyranometer B | Pyreheliometer
C | Sunshine recorder D | Solarmeter
50 | Absorber plate is made from




A | Glass B | Plastic

C | Aluminium D | Wood
51 | Which item is not related to solar radiation?

A | Pyreheliometer B | Pyranometer

C | Photovoltaic cell D | Micrometer
52 | The semiconductor material used in the solar cell is

A | Copper B | Alumium

C | Silicon D | Glass
53 | Solar pump does not have

A | Photovoltaic cell B | Storage battery

C | Electric motor D | A.C.Supply
54 | Which is the epicentre of last major earthquake in Gujarat?

A | Amdavad B | Vadodara

C | Bhyj D | Rajkot
55 | Which type of water circulation occurs in domestic solar heater?

A | Natural B | Pumping

C | Zigzag pressure D | Pressure
56 | Pyrolisis process is used to make

A | Sulphur dioxide B | Charcoal

C | Oxygen D | All of them
57 | Which gas is highest in proportion in biogas

A | Carbon dioxide B | Oxygen

C | Nitrogen D | Methane
58 | In acid rain the water has PH less than

A |10.2 B |56

C |83 D |114
59 | Bacteria and microorganisms are

A | Producer B | Consumer

C | Decomposer D | Transformer
60 | Full form of GEDA is

A | Gujarat energy development agency | B | Gujarat energy developmentAuthority

C | Gujarat energy district authority D | None of these
61 | Oil yielding plants are

A | Algae B | Sugar cane

C | Jojoba D | All of these
62 | Feeding material of biogas plant is

A | Plastic B | Rubber

C | Steel D | Agro waste
63 | The ratio of dung to water in biogas plant is

A |11 B |12

CcC |21 D |41
64 | Tremors experienced after major earthquake are called as

A | Fore shocks B | p-waves

C | Aftershocks D | Mainshocks
65 | The instrument measuring sesmic vibration is called

A | Seismometer B | Seismo wave

C | Seismograph D | Plate tectonic
66 | Earthquake is measured in

A | Frequency B | Time

C | Richter scale D | Decibel
67 | Example of natural disaster is

A | Curfew B | Riots

C | Hurricane D | None of these
68 | Sandy is the name of




A | Hurricane B | Tsunami
C | Epidemic D | Famine
69 | Disaster management is for
A | Response B | Mitigation
C | Prevention D | All of these
70 | Spread of one type of disease through out
the world is
A | Epedemic B | Pandemic
C | Contagious disease D | Andepic
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Answer Key for ECHM C300003

1 B 11 B 21 B 31 C 41 B o1 D 61 C
2 D 12 A 22 D 32 B 42 B 52 C 62 D
3 A 13 B 23 D 33 D 43 C 53 D 63 A
4 A 14 A 24 D 34 D 44 A 54 C 64 C
5 C 15 D 25 B 35 D 45 B 55 A 65 A
6 B 16 C 26 D 36 A 46 C 56 B 66 C
7 A 17 C 27 A 37 D 47 B 57 D 67 C
8 C 18 A 28 D 38 C 48 C 58 B 68 A
9 D 19 B 29 C 39 D 49 C 59 C 69 D
10 B 20 C 30 A 40 C 50 C 60 A 70 B




